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public class Count {
public static int A(int x) {
if (x <20) x = A(x+5) + B(x);
return x;
}
public static int B(int x) {
System.out.print("*");
return 3 * x;
}
public static int C(int x) {
System.out.print("*");
return 3 * A(x-3);
}
public static boolean D(boolean x, boolean y) {
return ((x || ly) || (x && y)):
}
public static boolean E(boolean x, boolean y) {
return (!x && (x && y));

}

public static void main(String[] args) {
System.out.println(A(3)); // ()
System.out.println(B(3)); /] (1D
System.out.println(C(3)); /! (1II)
System.out.printIn(D(true, true)); // (IV)
System.out.println(E(true, false)); // (V)

}
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<htmI> <head> <title> Verification</title> </head>
<script>
function verifyPass() {
var password = document.getElementByld("password"). (D) :
if(password == an ¢
alert("Empty™);
return false;

}

else 1f ((password.length < (IID ) || (password.length > Iv) ¢
alert("6~8 char");

return false:
b
else 1f (!(password.match(/*(?="\d)(?=.*a-z])(?=*[A-Z])/))) {
alert("Uppercase and lowercase");
return false;
}
else {
document.getElementByIld("M").___ (V) = "ok";
return false;
}
h
</script>
<body>
<hl style="color:blue">Password</h1>
<h3>Password Verification </h3>
<form onsubmit ="return verifyPass()">
<td> Enter Password : </td>
<input type = "password" 1d = "password" value = "">
<span 1d ="M" style="color:red"> </span>
<br><br>
<input type = "submit" value = "Submit">
</form>
</body>
</html>
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(I).value
(Ir).«»
(Im). 6
(IV). 8
(V). innerHTML
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thinclude <stdio.h=
ffdefine SIZE 10
int op(int datal || SIZE], int X, int y, int n) {

mt value = 0;

for int1=x;1<x+n; 1++)

for (intj = y; j < y+n; j++)

valuc + data[1][]];
return value/(n*n);

value

}
void print(int target[][SIZE], int size) {
for (int x = 0; X < size; x+1) {
for (int y = 0; y < size; yt1)
printf("%d ", target|x][v]);
printf("\n");

W5 T AR 0 P compress st ehirt iy o &R S AR SRR (D) ~ (1D

void compress(int data[][SIZE], int (I ___[]ISIZE],
int size, int n) {
it ¢Size = (an__
for (int x=0; x< ¢Size; x++)
for (int y=0; y<cSize; y++)
target___ (III) _ —op(data, x*n, y*n, n);
(IV)  (target, cSize);

}

int main() {

int data[ |[SIZE] = {{1, 2, 3, 4, 5, 6},
13,4,5,6,7, 8},
15,6, 1,2, 3,4},
17,7,9,9,5,5},
{2,2,4,4,8, 8},
{1,1,5,5,9,9}};

mt target SIZE|[SIZE];

compress(data, target, 4, 2);

compress(data, target, 6, 2);

compress(data, target, 6, 3);

return 0;
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(IT) size /n
(1) [x]Ly]
(IV) print
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public (18] class Score { public class Test {
protected int [] data; static void Main(string[ | args) {
protected int value; int[] datal = {90, 80, 70, 85};
public Score(int [] d) { mt[] data2 = {90, 80, 80, 85};
data = new int[d.Length]; mt[] weightl = {1, 2, 3, 4};
value = 0; mt[] weight2 = {4, 2,1, 3};
for (int 1 = 0; 1 < d.Length; 1++) Score x = new WeightScore(datal);
data[1] = d[1]; Score y = new WeightScore(data2);
} x.getValue(weightl);
private void print() {Console. WriteLine(""+value); } y.getValue(weight2);
protected abstract void compute(int[] weight); }

ot

public void getValue(int[] weight) {
compute(weight);

an o

h
public class WeightScore:Score {
public WeightScore(int [] data):__(III) _ (data) {}
protected ___ (IV)  void compute(int [] weight) {
int totalWeight = 0;
for (int 1 = 0; 1 < data.Length; 1++) {
value = value + data[i] * weight[i];
total Weight = total Weight + weight[i];

|
s

value = value /__ (V)
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